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Reg. No.

Fifth Semester B.Com.2/B.Com.3 Degree Examination, Nov./Dec. 2018

COMPUTER APPLICATION IN BUSINESS (Regular/Repeater) (Paper — V)
Time : 3 Hours Max. Marks : 80

Instructions : 1) Answer all Sections, subject to internal choice.
2) Section D is compulsory. ’
‘ SECTION — A

Answer any ten questions. Each carries 2 marks. (10x2=20)

NIV AW

e e el
M= o v

What is mobile commerce ?

Name any 2 online book stores.

What do you mean by virtual auction ?

Distinguish between intranet and extranet.

Write any 2 characteristics of LAN.

Expand HTTP and SGML.

How do you szt the background colour of HTML page ?
Specify any 4 keywords of VB.Net.

Give the syntax of Inputbox() in VB.Net.

Define branching.

. Write the purpose of firewall.

Define cryptography.
SECTION - B

Answer any 3 questions. Each carries 5 marks. (3x5=15)

13.
14.
15.
16.

17.

Write the benefits of E-commerce to the government.
Explain the merit of computer networks.
Explain the structure of HTML document.
Write a VB.Net program to find the given number is even or odd.
Describe the benefits of electronic payment system.
SECTION -C

Answer any 2 questions. Each carries 15 marks. ' (2x15=30)

18.
19.
20.
21,

Discuss in detail the different electronic payment system.
Explain the merits and demerits of “Business through Internet” concept.
Explain the different conditional control statements in VB.Net with syntax and example.

Write a short note on :
a) Internet newspaper.
b) Table tags in HTML..

¢) BPR.
P.T.0.
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SECTION -D

Case study. Compulsory. ‘ (1x15=15)
22. Designa VB.Net application to generate a bill of the books purchased on the basis of following

conditions.

Price Discount

Below Rs. 100 5%

Between Rs. 100 to 200 10%

Between Rs. 200 to 300 15%

Above Rs. 300 20%

Accept the Book title, Author name, Publisher name, Price and quantity, calculate and print

the Bill amount.




Reg. No.

36523/23523/E 230

V Semester B.Com.2/B.Com.3 Degree Examination, November/December 2018
Paper — I : ELEMENTS OF COSTING -1

(Regular and Repeaters)

Time : 3 Hours

1.

Max. Marks : 80

Instructions : 1) Attempt questions according to internal choice in each Section.
Rpuadrich: & 30lR0m MRS So08 SORNRTITIN Z S ¢vgo20.

2) Question No. 11 is compulsory.

g 11 sapab.
3) Give working notes wherever necessary.
S I BTNV 200
SECTION - A
-
Answer any ten of the following :
Hewors e BB vgoR0 :
a) Define Cost Accounting.
S, SRy 53,9,080.

b) State the components of Prime Cost.
T8 S8 0D, PLIMIR), 3920.

¢) What is Indirect Material Cost ? Give two examples.

TTReE, RN T3, 0TS 7 ATR VETTHE BoA.
d) What is Maximum Stock Level ?
nos, TR S0 SOTBe 2
€) What is Cost Sheet ?
303, Wed 20TTeeD 2
f) What is purchase requisition ?
20060 ToVD R0TTed 2
g) What is Idle time ?
IFoIRexE 568 D0BTed 9
h) What do you mean by Labour Hour Rate ?
ToFE MO T8 0mTed 7

i) Write formula to calculate the earnings under Rowan Plan.

Seednf odpemsodd) nNed g 3RO X, WSO,

(10x2=20)

P.T.O.
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j) What is overhead cost ?
00T MED OWTeRD 7
k) What do you mean by under recovery of overhead ?
e TRR0- 0T DTV 7
I) What is Machine Hour Rate ?
¢RacE, rosd T domBead ?
SECTION-B
dgeni— o

Answer any three of the following :
BYNT e sowetd TF NN BLZORO
2. Explain the objectives of Cost Accounting.

2313 ST LB eBnYd 0[O0,
w8 = o o

~

A 0 O St o

(3%5=15)

3. From the following particulars prepare Cost Sheet and show the Sales Value :

Rs.

Raw materials as on 1-4-2017 1,00,000
Raw materials as on 31-3-2018 80,000
Work in progress as on 1-4-2017 40,000
Work in progress as on 31-3-2018 64.000
Purchase of raw materials 5,00,000
Direct wages 2,00,000
Factory overhead 80% of direct wages
Administrative overhead 60.000
Selling and distribution overhead 20,000
Profit 20% on sales.
NS JWoRPoT mi 33'@3’0335&2‘ FCcIRBAO TR IRTOLIT 2360333&2' Zpedad.

AR RV
B, woson, 1-4-20178 1,00,000
s, woaon, 31-3-20183 80,000
Zrdobacoxs gox 1-4-2017 40,000
Fn3chOdes sox 31-3-2018 64,000
B3, TN, 03> DO 5,00,000
36T 2d 2.00,000
HUTDTIIOD Foewd 3, 3ed Endod 888 80%
300D Roeen g, - 60.000
BRooe worte IBCBODL Boewo g, 20,000

TRovEE ot Soeed 20% oo
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4. Following is the information relating to consumption of material “M” in an organisation.

Maximum consumption 200 units
Minimum consumption 160 units
Re-order quantity 200 units

Delivery period I week to 3 weeks
Normal 2 weeks

Consumption during the year 2400 units

Calculate :

1) Re-order level

2} Maximum stock level

3} Minimum stock level.

20T noﬁ(acfog “M” SR03 Emwodmcﬁ% BOLOHAIT TS TENT0T.

row, wes 200 st
T wd 160 odasesrnied
2ot e ™S, 200 chwedernisd
WRTR OB 100z 3 eonsd
R, 2 eoonsh
IRFBY, HodReNRG TRy 2400 comRerned
FOROBBOUO

1) =00 eies w8,
2) riowg woRgRd 08,
3) S0 momr e,
5. Calculate the earnings of Akash and Balu under Taylar’s differential piece rate system from
the following :
Normal rate per hour Rs. 12
Standard time per unit 30 seconds
Differential to be applied :
80% of piece rate below standard
120% of piece rate at or above standard
Workers production per day of 8 hours is
Akash — 800 units
Balu — 1000 units
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ST Honw Woew [T ﬁomdﬁo&a‘x& B3 FENT SRHSWOT 0T TR0 IR Dor ©T Eﬂ%éojooﬂ C‘J?{;
©Ra0.
WRRT, B T riossrt g, 12
T3 CheRE'S B RResE Sed 30 Fomonwd
BORIeTT BTH,% ©T ' :
FReodod SRHEREE 0w T 80%
YRR P BB, 2o@ 565 120%
8 notdns 230 Sexreds w&pﬁ :
&553* - 800 chwadirrish
wen - 1000 chedernisd »
6. From the following information compute Machine Hour Rate in respect of Machine “P” for
the month of February 2018
Cost of Machine Rs. 24,000
Estimated scrap value Rs. 4,000
Estimated working life 20000 hours
Total hours worked during the month — 400 hours
Estimated cost of repairs for working life Rs. 5,000
Fixed charges aliocated to this machine for the month Rs. 200
The machine consumes 10 units of power per hour at — Rs. 0.40 per unit.
&7 C30ZE RoweRAT Ritdcion 1,30 2018 Sortemon ahos, riod ORI, ForBAD.
003, 3 Sarw 13 Se. 24,000
a008,T 120 SPe, BelTy dr. 4,000
020 ORT riotdne 20.000
2oMYS BBHONY, Box Inad 2,830, nodnieb 400
BeDTIH0D Vo> bBed g, dw. 5,000
03,8 Sonvrmi &BOAE 43 Suried aw. 200
003, 2.0 nosd o Snaes 10 cndes DR, w3
203> CRREF DI, B 13T de. 0.40 acogch.

SECTION -C
pn— @
Answer any two of the following : (2x15=30)
NIV, eTots Ho@E vgor0
7. Explain merits and demerits of Cost Accounting.
s%eﬁmga OoIred Tomie TORNIY, DFORL.
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. From the following information prepare a Stores Ledger under FIFO method.
November 2017
~Nowv. 1

b2

”

kg

"

L2)

??

»

»

”»

bLd

"

5

6

7
10
12
14
18
20
25
28
30

Opening stock 400 units at Rs. 100 per unit

Issued 100 units

Received 1600 units at Rs. 110 per unit

Issued 600 units '

Returned to stores 40 units which was issued on 5% November 2017
Received 600 units at Rs. 120 per unit

Issued 640 units

Received 200 units at Rs. 140 per unit

Issued 240 units

Returned to Vendars 80 units which was received on 18th November 2017
Received 400 units @ Rs. 150 per unit

Issued S00 units

33 390 IRenved FIFO ﬁ%&@gﬁdﬁ) méodaabq 3CIROR0.
S0t 2017
gadowo® 1

ke

”»

£

»”

"

2

»

”»

ked

L]

"

5

6

7
10
12
14
18
20
25
28
30

per hour.

essoy 503 400 chwREFR T, bRl do. 100 zed

gaegd 100 odnedianid

S@0m) 1600 cihwernivd 3,8 andert de. 110563

foesphy 600 R

0T, €98, 00NN 40 cIRRETTID DF90T 5 SSowot 201 700w
HEn 600 chenerriso I3 chedur te. 120068

3o 640 chelurnd

T 200 cedirTivo T3 et de. 140

$a83m) 240 obaREFTiso |

g Semocsont &otsonaa 80 cdarRestntd 183 S3owo® 2017 =0T
s 400 chedEnito 33 cwRir da. 150

Brt3zsy 500 cRRENTE

Standard time fixed for a job in a manufacturing company is 40 hours. Time rate is 60 paise

The actual time taken by the workers is as follows :
Raveendra
Sudindra
Aravind
Calculate the remuneration of above workers as under :
i} Halsey Plan »
ii) Rowan Plan.

20 hours
15 hours
30 hours
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10.

- BN Qa0 2000 BoRow susaTiRion w0BRer X0wo0as, A, B, C sbed £uss
- X aone Y e dyornins.

LOTD BT FOTICDE), 20D SORE Baned3 rowined 40 oo ANORRELNG,
Sed 30 T8 nokdrt m@md& 60 TR DOTH ANDTRWRA,. dzsavois Bed S5 B3NS BROBO ERCENOE Fewd
Anda.

TR0, 20 not3nsh
xR0, 15 notdniso
80005 30 riowinsb

BT FogSenT AT cdrensng @m0 &% SnE0.

1) aeodws odpens

i) deesarons odpend.

The following particulars relate to a company’s manufacturing operations.

There are three production departments viz., A, B, C and two service departments X and Y,

Departments Overheads (Rs.)
A 15,800 ‘
B 29,200
C 25,400
X 6,800
Y 15,000
The overhead charged to service departments are charged out on percentage basis as under :
Particulars Production Departments Service Departments
. A B C X Y
Department X 4% 20%  30% - 10%
Department Y 20% 40% 20% 20% -

Re-apportion the service departments overhead charged to production departments using
“Simultaneous Equation Method” also determine overhead recovery rate if direct labour hours
worked are 2000, 3000 and 4000 respectively in the three production departments.

T DEToTRED Rk

w

EREACH 1 04 hewn mgﬁ (Cr.neY)
A 19,800
B 29,200
C 25,400
X 6,800
Y 15,000
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e iy soew St SrEme 8 SNF0S eHORUANG.

SRR NBTT DFREL Bewm Qenisd
A B C X Y

agent X 40% 20% 30% - 10%

oot Y 20% 40% 20% 20% -

0% 5008 B20WTee THS LR Fesss Hegening woeed ES?.{I‘%%&UJ Bowst WRAO.
Sopdd TG SERTed, B33 8o rotdnd e0d,aomNn 2000, 3000 zne 4000 25338 Soeen 323,

550 Doy DEFORD.
SECTION-D
PR -
Case study (compulsory) : ' (1x15=15)

T30 5,00 (YN I3)

11. The following are the particulars given to you :
Standard Time : 10 hours and
Time Rate Rs. 10 per hour

Time taken : Workers O - 8 Hours
P - 6 Hours
Q-5 Hours
R —4 Hours
S — 3 Hours
You are required to :

i) Prepare comparative statement earnings under Halsey and Rovzan Bonus plans.
i) Analyse the statements and give your conclusions.
iii) Suggest the bonus scheme suitable from the point of management and workers.
B FINS BLWSoDTY, a1 wENISNT
sy, 3 e : 10 Rosdrich a8
368 0 de. 10 33 notdrt
FoRrmit) 3ncieoR Se¢ O — 8 nowdnd
P — 6 rotdnicd
Q — 5 rlot3ned
R — 4 riownsh
S — 3 rot3risd
Ve ¢
i) Sodekad one BreRar o0 Brean® odness Jed SeRmdd rivod Bredd Tegpb) SedRORD.
ii) aﬁummeOm o aziemagmmﬁq eRO.
iii) erReEOmORS mors SURLUS Hagoon cnd tress” e BAY HotnRyTR) DE0RO.
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Reg. No. I

V Semester B.Com.2 Degree Examination, November/December 2018
ECONOMIC DEVELOPMENT OF INDIA (Repeaters)

Time : 3 Hours

Max. Marks : 80
Instructions :

1) All sub-questions should be answered at one place continuously. Quote

Jacts and figures to support your answer.

XRUIIe0 : wop wI-Z e Lode s QI LS00, 0S¥ vod-yodndeodrt N evFoneR)

TEORFAO,
2) Answers to all Sections should be written in the same answer book.
e, Dy eugomyR ot evFT T SO, LoD,
' SECTION -A
PR — e
. Answer any ten of the following questions in 2-3 sentences each.
NS Weors BH FZNvn 2-3 w08, 19, ewFond.
a) Give the meaning of a developing economy.
. e:zpadqa&w @qsmﬁas%wa OTF AR _
b) Mention any two features of Indian economy.
panistiaficlola.x oV levirin)taniats InPnleire) og‘mv;gt Bewd.
¢} What is family planning ?
Bot0ow 3R HOETERY ?
d) Expand GNP,
GNPobwy agore.
¢) Expand HDIL
HDlIobay 930%0.
£} Whatis National Income ?

oaa%ecrb SBT3 0BTe ?

(10x2=20)

g) What is economic planning ?
&OrY odntmd 2orded 9

h) State the meaning of VAT.
m‘aodmﬁ 307 o Bewd.

1) What is the period of X1 Five Year Plan ?
X1 B¢ Howsmoars odnendod o0l SRR 2

P.T.O.
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j) Give the meaning of deficit budget.
BaUdod Boon® 3,E wEF Beao.
k) What is bank rate 9
U3, 0F° T3 20T 2
1) Mention any two objectives of fiscal policy.
To289, T30000 e303> 0XRFHTOWTH DT eruc(?aedmﬁa’g{ ROSIOIALS
SECTION - B
apn—w |
Answer any three of the following questions. | (3x5=15)
3N elemars nach BF NN cugosd, _ '
2. Explain the obstacles to cconomic development in India.
WOIRY, SRFF veiiol BEEEHERy aTOR.
3. Explain the adverse effects of population problem.
o, XK oh tomomeRNRy DEoRD.
4. Explain the objectives of XII Five Year Plan.
| XIS Soumact oleeudos suceseRy amons.
5. Explain the objectives of monetary policy.
TreFOR0 Qedad WUTEINTRY DTORD. _
6. Explain the concepts of National Income in brief.
Dodeodd SORRIT ToFORNTEY RosWezon HTOXO.
SECTION ~-C
QIr — ¥
Answer any two of the following questions. ’ (2x15=30)
89N Wewod aud B rien sugono.
7. Discuss the features of Indian economy.
fADTe 1w @Zﬁ?ﬁéaﬂk’@ o 03& wmﬂﬂg{ WIFAD.
8. Explain the causes for rapid growth of population in India.
R0 2RSS, 0300 3653, 700w HOFAIRRED BTN DBoR0.
9. Explain the various functions of RBI.
YRTBCD DmwE 3R, 0% DG %bo'brﬁvaig{ DWOAD.
10. Critically examine monetary policy of India.
. U Browoad a'\)esoimg{ ammr@mzﬁ w3oWd.
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SECTION - D

TN - B

Casec let. (1><15=15)

11. The eleventh five year plan covers period of five years from 2007-2012. It’s main objective is

speedy and inclusive growth. It has targeted growth rate of 10% p.a. Employment is another
-corner of the 11% plan. Doubling the rate of growth in agriculture, invest in labour intensive

manufacturing units. The plan also emphasizes growth in the infrastructure sector and
11™ plan seeks to attain socio-economic transformation.
Questions :
1) What is the time frame of the 11* plan ?
2) Define inclusive growth.
3) Explain the objectives of 11™ plan.

zs Qd IR -

BIR0mESek Tormars odnewmdoto 2007-2012 8 o Sxene eem;)cmmhd &0 s, e eTHond
363, Tone wiieoR wWEedn. B 8w esm 108 tvsined: TR, B, AOOODTNIERORT. vutda,eri
NEIRE D B 2003303 odpezssodd adRotd Taod T TN, 3 LR BOTY, &rbmﬁm"’ RO,
R&l)?‘#dﬁa WHRAORE PUBITT0 PUBNSY WOBTV BABZT, RO PTeFne R C)ﬁ abm NETITYTID
mm 11303 o3mewsodn Momnes-whrs SomeSah 1o ROTLO FOROID.

a) %ﬂ%

1) BHpomsch Mowmonrs odnensod om0 oo ¢

2) w9reon BVRrdriodsy, w90, 00,

3) 113 odnemsod NI eBRTR HTOXO,
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Reg. No.

V Semester B.Com.2 Degree Examination, Nov./Dec. 2018
INDIAN FINANCIAL MARKETS (Repeaters) (Paper - I)

Time : 3 Hours Max. Marks : 80
Instructions : 1) Answer all the questions subject to internal choice.
Xee¥sn: ©0F0F LoRnor L) SR ZEnen ugo0.

2) Question No. 11 is compulsory. (Case Study)
Zg 7oz 11 smpabenns, (B80r HBeRs)
SECTION - A
batart, S
1. Answer any ten of the following : (10x2=20)
FINSINGO, iemnrd BB WIROrT GO0
a) Define the term Finance.
Teoromd DR 39,83, L0,
b) What is Financial Market ?
TEoTRD BRTWES, Q05307
¢) State any two features of Financial System.
BeomaRt) o> CIRTTTTR TR VFFONER IS0,
d) What is Primary Market ?
TP SRCBE, DT> T
) What is Treasury Bill ?
DT B0l 0TV 7
f) Define Hedging. |
230800 559,25, LTON0.
g) Who ts a Broker ?
30" 0wt cInNTh ?
h) What is Mutual Fund ?
TWIRO DG 20w ?
i) What is Merchant Banking ? |
I8 e, ohonT 0TI 7

P.T.O.
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i) Whatis Net Asset Value ?

37 53,8 DR, RoETERD 7
k) Write any two firms issuing Mutual Funds.
BORT RONT, QBRI TR ;'u’ofgfd BATH WP,

1) Expand :
1) NABARD and 2) IDBI
DROR:
1) oRt.0.0 6070 TR
2) ap.n
' SECTION - B
Dy - v

Answer any three of the following questions :
FONS temats Bndh FENor ¢gos0

2.

Briefly explain the structure of Financial System.
BromR> St T3 RofToN HTORD.

. Explain in brief the meaning and functions of Jobbers and Brokers.

TSI TN RO B SR FODF TR ROFToN DITORD.
Explain the benefits of investing in equity shares.
TR, BN, word BRRBCIOS e Todessrie HEoRd.

. Briefly explain the mechanism of issuing instruments in capital market.

worRe SRcFded) Brad REIRY DT QERIBI RodFRN QESORO.

6. Explain the benefits of Mutual Funds.
HORD DR FedRewsnvi D00,
' SECTION - C
T - 3
Answer any two of the following :
tiemd oo IRor LugoR0:
7. Define Money Market. Explain various instruments of money market.

BT BROITEIPW TS, wTCIX. BT BRCTLED HF GRS SRIOXD.
What is Mutual Funds 7 Explain the various schemes of Mutual Funds.
TORT D 20e3TeR> 7 TORG DY NG CAREESIFR) DEOKD.

Define stock exchange. Explain the types of dealings in stock exchange of India.

B SRR TR T a3, wikcnsd, @, Jrdesms DI S BSETER) HZOX0.

(3x5=15)

(2x15=30)
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10. What is primary market ? Explain the functions and importance of primary market.

11,

T, TRE BRI, 0T 7 00 TSR 7RD Woris TR0 I) HEOK0.

SECTION-D

Qyen - &

Case Study /Zsoe Q3= (1x15=15)
Compulsory question /gwed T3:
Mr. Murthy and friends decided to establish a new Public Company with an authorised
capital of Rs. 100 crores. They decided to raise this capital by ownership and borrowed
funds. As a financial expert advise them for following issues.
a) Suggest securities to be issued to raise fixed and working capital.
b) Name the Financial Institutions from which borrowed capital to be collected.
¢} Is it advisable to raise only ownership capital ?
2 FHINSF 3B Fu:eaoa’d: 2,003 BR S eRE #ommﬁgtmom’m woi:%:c%d &0 eog’,s wory de. 100
2etIcIRACIEE, 81 LOBmYRR) TNOEZE Tre W BRBE woBms DYV BT RO R WEART.
Deggpry, TOTR BTN B NS DRI FOT DeRd.
a) AC@mna s 20TEDY RON&TL IR BETR> BENER, LENE SR> ?
b) o TR W WBNRR TsR) BORRTR) BROLD.
c) o BROE3D oY RO R odeerisSe ?
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Reg. No.

V Semester B.Com.3 Degree Examination, November/December 2018
(Regular and Repeaters)
MANAGEMENT ACCOUNTING
Time : 3 Hours Max. Marks : 80
Instructions : 1) Attempt the questions according to internal choice.
)] Non-programmable calculator may be used.
SECTION - A

1. Answer any ten of the following. | (10x2=20) .

a) Define Management Accounting.

b) Mention any two techniques of Management Accounting.

¢) State any two differences between Cost Accounting and Management Accounting.

d) Mention any two tools of financijal analysis.

€) What are financial statements ?

f) What do you mean by Debt-Equity ratio ?

g) How do you treat proposed dividend in the preparation of fund flow statement ?

h) State any four applications of funds.

i) Mention any two difference between Balance Sheet and Fund Flow Statement.

J) What do you mean by cash equivalence ?

k) State any two objectives of cash flow statement.

1} Give two examples of cash outflow from ﬁnancing activities.

SECTION - B

Answer any three of the following. | (3x5=15)
2. Explain the advantages of Management Accounting.
3. From the following data calculate trend percentages taking 2015 as the base year.

Particulars 31-12-2015 31-12-2016 31-12-2017
Sales 3,00,000 4,00,000 5,00,000
Cost of Sales 1,50,000 2,50,000 3,00,000
Other Expenses 75,000 1,05,000 1,40,000
Financial Expenses 15,000 20,000 10,000

P.T.O.
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4. The following is the information of Durga Co. Ltd.
Current liabilities - ¥ 1,00,000
Current Ratio : 3:1
Liquid Ratio : 2:1
Find out :

a) Current assets
b) Liquid assets

c) Inventory.

S. Following is the Balance Sheet of Viresh Ltd. as on 31* March 2016 and 2017. Prepare schedule

of changes in working capital.

Statement of Assets and Liabilities
2016

2-

Particulars Note Amount

1. Equity and Liabilities :
1. Shareholders fund :
a. Share capital

N

b. Reserves and Surplus
2. Current Liabilities :

a. Trade Payables 3

b. Other Liabilities 4
Total

I1. Assets:

1. Non-current Assets :

a. Fixed Assets

i) Tangible Assets 5

2. Current Assets :

a. Current Investment 6
b. Inventories 7
¢. Trade Receivables 8

d. Cash and cash equivalents 9
Total
Notes to accounts :
Note 1 Share capital :
Equity share capital

Share capital

10,000

7,000
43,000
50,000
17.000

Total

92,000

35,000

1,27,000

10,000

1,17,000
1,27,000

Amount

75,000
38.000

39,000
10,000

15,000

5,000
60,000
45,000
37,000

2016

62,000
62,000

2017

75,000
75,000

Total :

1,13,000

49,000
1,62,000

15,000

1,47,000
1,62,000

2017
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Note 2

Note 3

Note 4

Note 5

Note 6

Note 7

Note 8

Note 9

Reserves and surplus :
Reserves and surplus

Reserves and Surplus
Trade payable :
Sundry creditors
Bills payable

Trade payable
Other Liabilities :
Outstanding expenses

Other liabilities
Tangible assets :
Land and building

Tangible Assets
Current investment :
Investment

Current Investment
Inventories :
Stock

Inventories
Trade Receivables :
Debtors :

Trade Receivables
Cash and cash equivalents :
Cash in hand

Cash and Cash equivalents

30,000
30,000

25,000
10,000
35,000

10,000
10,000

7,000
7,000

43,000
43,000

50,000
50,000

17,000
17,000

6. From the following information calculate cash from operations.

Particalars - 2016
Profit and Loss Account 15,000
Sundry Debtors 30,000
Bills receivables 26,000
Stock 34,000
Creditors 17,000
Bills payabie 3,000

Additional infermation :

1) Goodwill written off during the year ¥ 6,000.
2) Depreciation charged on the assets T 9,000.

2017
60,000
34,000
21,000
50,000
20,000
10,000

36521/E 210

38,000
38,000

22,000
17,000
39,000

10,000
10,000

15,000
15,000

5,000
5,000

60,000
60,000

45,000
45,000

37,000
37,000
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SECTION -C

Answer any two of the following.

8 O

(2x15=30)

7. Following are the financial statement of Advait Ltd. as on 31% December 2016 and 2017.
Prepare Comparative Statement of Assets and Liabilities.
Statement of Assets and Liabilities

- 2016
Particulars Note Amount Total Amount
I. Equity and Liabilities :
1, Shareholders fund :
a. Share Capital 1 4,80,000 6,40,000

b. Reserves and Surplus 2 2.,00,000
- 2. Non-current Liabilities :

Long-term borrowings 3
3. Current Liabilities :

a. Trade payables 4
Total

II, Assets:
1. Non-current Assets :
a. Fixed Assets

i) Tangible Assets 5

2. Current Assets :
a. Inventories | 6 1,60,000
b. Trade Receivables 7 80,000
c. Cash and cash equivalents 8  40.000
Total

Notes to accounts :

Note 1 Share capital :
Equity share capital
Share capital
Note 2 Reserves and surplus :
General reserves
Reserves and Surplus
Note 3 Long-term Borrowings :
8 % debentures
Long-term Borrowings

6,80,000 2,80.000
2,00,000

1,20,000
10,00,000

7,20,000

2,20,000

1,20,000

2,80,000 60,000
10,00,000

2016

4,80,000
4,80,000

2,00,000
2,00,000

2,00,000
2,00,000

2017
Total

9,20,000
2,00,000

1,60,000
12,80,000

8,80,000

4,00,000
12,80,000

2017

6,40,000
6,40,000

2,80,000
2,80,000

2,00,000
2,00,000
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Note 4 Trade payable :

Sundry creditors
Bills payable
Trade payable
Note 5 Tangible Assets :
Machinery
Land and Building
Furniture
Tangible Assets
Note 6 Inventories : '
Stock
Inventories

Note 7 Trade receivables :
Sundry debtors
Trade receivables
Note 8 Cash and cash equivalents :
Cash
Cash and cash equivalents

80,000
40,000

1,20,000

1,60,000
5,20,000

40,000

7,20,000

1,60,000
1,60,000

80,000
80,000

40,000
40,000
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1,00,000
60,000
1,60,000

2,00,000
6,20,000

60,000
8,80,000

2,20,000
2,20,000

1,20,000
1,20,000

60,000
60,000

8. Following is the financial statement of Amruta Ltd. for the year ended 31-12-2017
Statement of Profit and Loss

Particulars Note Amount
I. Continuing Operations :

1. Revenue from operations 1 5,00,000

2. Other Income 2 6,000
Total Revénue

3. Expenses :
Cost of materials consumed 3 2,93,000
Employees benefit cost 4 5,000

Finance cost 5 7,000
Other expenses 6 1.17,000
Total Expenses

Profit

Total

5,06,000
5,06,000

4,22,000
4,22,000
84,000
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Notes to accounts :

Note 1 Revenue from operations :
Sales

6

Revenue from operations

Note 2 Other Income :
Interest on securities
Dividend on shares
Profit on sale of shares
Other Income
Note 3 Cost of materials consumed :
Opening Stock of materials
Add : Purchase of materials

Less : Closing stock of materials

Cost of materials consumed

Note 4 Employees benefit cost :
Wages

Employees benefit cost

Note 5 Finance Cost :
Financial Expenses
Finance cost
Note 6 Others expenses :
Carriage
Administrative expenses
Selling and distribution expenses
Loss on sale of fixed assets
~ Provision for legal suit
O/ther expenses
You are required to calculate :
i) Gross Profit Ratio
ii} Net Profit Ratio
iii) Operating Profit Ratio
iv) Operating Cost Ratio
v) Stock Turnover Ratio

2017

5,00,000
5,00,000

1,500
3,750

750
6,000

76,250
3.15.250
3,91,500

98,500
2,93,000

5,000
5,000

7,000
7,000

2,000
1,01,000
12,000
350
1,650
1,17,000
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9. From the information given below prepare fund flow statement of Smile Ltd.
~ Statement of Assets and Liabilities
2016

Particulars Note Amount
I. Equity and Liabilities :
1. Shareholders fund :

a. Share Capital 1 6,00,000
b. Reserves and Surplus 2 1,18,000
2. Non-current Liabilities :
Long-term borrowings 3
3. Current Liabilities : -
a. Trade payables 4 1,15,000
b. Short -Term provisions 5  44.000
Total
IL. Assets :
1. Non-current Assets :
a. Fixed Assets
1) Tangible Assets 6
2. Current Assets :
a. Inventories ' 7 3,00,000
b. Trade Receivables 8 57,000
c. Cash and cash equivalents 9 20,000
Total
Notes to accounts :
Note 1 Share capital :
Equity share capital
Share capital
Note 2 Reserves and surplus :
Profit and Loss Account

Less: Preliminary expenses
Reserves and Surplus
Note 3 Long-term Borrowings :
Debentures
Long-term Borrowings

Total Amount

8,

2,00,000

36521/E 210

2017
Total

00,000 -
7,18,000 2,44,

44,000

90,000

1,59,000 57,000

10,77,000

7,00,000
3,

3,77,000
10,77,000

2016

6,00,000
6,00,000

1,25,000
7,000
1,18,000

2,00,000
2,00,000

50,000
56,000
40.000

10,44,000

3,00,000

1,47,000
14,91,000

10,45,000

4,46,000
14,91,000

2017

8,00,000
8,00,000

2,50,000
6,000
2,44,000

3,00,000
3,00,000
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Note 4 Trade payables :
Sundry creditors 1,15,000
Trade payables 1,15,0600
Note 5 Short-Term Previsions :
Provision for Taxation 44,000
Short -Term Provisions 44,000
Note 6 Tangible Assets :
Land and Building 3,00,000
Plant and Machinery 4,00,000
Tangible Assets 7,00,000
Note 7 Inventories :
Stock 3,00,000
Inventories 3,00,000
Note 8 Trdde Receivables :
Debtors 63,000
Less : Provision for Doubtful Debts 6,000
Trade Receivables 57,060
Note 9 Cash and Cash Equivalents :
Bank ' 20,000
Cash and Cash Equivalents 20,000

Additional Information :

a) During the year a part of Machinery costing ¥ 70,000 was sold for X 6,000.

b) Dividend of ¥ 50,000 was paid during the year.

10. The following are the financial statement of Sourabh Ltd. as on 31* December 2016 and 2017.

Statement of Assets and Liabilities
2016

Particulars Neote Amount
I. Equity and Liabilities :
1. Shareholders fund :
a, Share Capital 1 3,00,000
b. Reserves and Surplus 2 40,000
2. Non-current Liabilities :

Long-term borrowings 3

3. Current Liabilities : .
a. Trade payables -4
Total

90,000
90,000

57,000
57,000

4,00,000
6,45,000
10,45,000

3,50,000
3,50,000

59,000
3,000
56,000

40,000
40,000

2017

Total Amount Total

3,20,000

3,40,000

50,000

40,000
4,30,000

30,000 3,70,000

30,000

50,000
4,50,000




II. Assets:
1. Non-current Assets :
a. Fixed Assets
i) Tangible Assets 5
ii) Intangible assets 6
2. Current Assets :

a. Inventories

b. Trade Receivables 8
c. Cash and cash equivalents 9
Total

Notes to accounts :

Note 1 Share capital :
Equity share capital

Share capital

Note 2 Reserves and surplus :
Profit and Loss Account

Reserves and Surplus

Note 3 Long-term Borrowings :
10 % debentures

Long-term Borrowings

Note 4 Trade payabies :

Sundry creditors

Trade payables

Note 5 Tangible Assets :
Land and Building

Tangible Assets

Note 6 Intangible Assets :
Goodwill

Intangible Assets

Note 7 Inventories :
Stock

Inventories

7 2,00,000

1,20,000

- 1,20,000 20,000

1,80,000

65,000

3,10,000 65.000
4,30,000

2016

3,00,000
3,00,000
40,000
40,000

50,000
50,000

40,000
40,000

80,000
80,000

40,000
40,000

2,00,000
2,00,000
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1,40,000

3,10,000
4,50,000

2017

3,20,000
3,20,000

50,000
50,000

30,000
30,000

50,000
50,000

1,20,000
1,20,000

20,000
20,000

1,80,000
1,80,000




II. Assets:
1. Non-current Assets :
a. Fixed Assets
i) Tangible Assets
ii) Intangible assets
2. Current Assets :
a. Inventories

b. Trade Receivables

c. Cash and cash equivalents 9

Total

Notes to accounts :

Note 1 Share capital :
Equity share capital

5 80,000
6 40.000
7 2,00,000
8 56,000

54,060

Share capital

Note 2 Reserves and surplus :

Profit and Loss Account
Reserves and Surplus

Note 3
' 10 % debentures

Long-term Borrowings :

9.

Long-term Borrowings

Note 4 Trade payables :

Sundry creditors

Trade payables

Note 5 Tangible Assets :

Land and Building

Tangible Assets

Note 6 Intangible Assets :

Goodwill

Intangible Assets

Note 7 Inventories :

Stock

Inventories

L
1,20,000

1,

3,10,000
4,30,000

2016

3,00,000
3,00,000

40,000
40,000

50,000
50,000

40,000
40,000

80,000
80,000

40,000
40,000

2,00,000
2,00,000

20,000
20.000

80,000
65,000
65.000
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1,40,000

3,10,000
4,50,000

2017

3,20,000
3,20,000

50,000
50,000

30,000
30,000

50,000
50,000

1,20,000
1,20,000

20,000
20,000

1,80,000
1,80,000
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Case

Note 8 Trade Recetivables :
Debtors

-10-

Less : Reserve for doubtful Debt
Trade Receivables

Note 9 Cash and Cash Equivalents :

Cash in hand

Cash and Cash Equivalents

Additional Information :

a) Dividend paid during 2017 was T 20,000.
b) Land purchased was % 40,000,

¢} Goodwill written off ¥ 20,000.

d) Debenture of ¥ 20,000 was redeemed during the year 2017,

Prepare cashflow statement for the year 2017.
SECTION-D

Study — Compulsory Question :

11. The following is the financial statement of Sachin Ltd.
Statement of Assets and Liabilities

II.

Particulars " - Note Amount

1. Equity and Liabilities :
1. Shareholders fund :
a. Share Capital
b. Reserves and Surplus
2. Non-current Liabilities :
Long-term borrowings
3. Current Liabilities :
a. Trade payables
Total
Assets ;
1. Non-current Assets :
a. Fixed Assets
i) Tangible Assets
ii} Intangible Assets
2. Current Assets : '
a. Inventories
b. Trade Receivables
¢. Cash and cash equivalents
Total

—

6

7
8
9

8,00,000
62.000

8,70,000
40,000

1,80,000
42,000
10.000

2017
Total

8,62,000
2,00,000

80,000
11,42,000

9,10,000

2,32,000
11,42,000

60,000
4,000
56,000

54,000
54,000

XA A GRS 0 A

70,000
5,000
65,000

65,000
65,000

(1x15=15)
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Notes to accounts :

Note 1

Note 2

Note 3

Note 4

Note 5

Note 6

Note 7

Note 8

Note 9

Share capital :

Equity share capital

6% Preference share capital
Share capital

Reserves and surplus :

General reserve:

Profit and Loss Account

Less : Preliminary expenses

Reserves and Surplus
Long-term Borrowings :
5% debentures

Long-term Borrowings
Trade payables :
Sundry creditors
Bills payable :
Trade payable
Tangible Assets :
Land and Building
Machinery
Fumiture :

Tangible Assets
Intangible Assets :
Goodwill

Intangible assets
Inventories :
Stock

Inventories
Trade receivables :

Debtors

Trade Receivables
Cash and cash equivalents :
Cash in hand

Cash and cash equivalents

2017

5,00,000
3,00,000
8,00,000

40,000
30,000
70,000
8,000
62,000

2,00,000
2,00,000

56,000
24,000
80,000

5,00,000
3,50,000

20,000
8,70,000

40,000
40,000

1,80,000
1,80,000

42,000
42,000

10,000
10,000
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Total sales for the year ¥ 8,00,000 and the profit made on it was 20%.

I) From the above information calculate :

a) Current ratio

b) Quick ratio

¢) Proprietary ratio

d) Capital gearing ratio
¢) Stock tumover ratio
f) Debt equity ratio.

II) Comment on the following :

a) Liquidity position
b) Debt equity mix
¢) Solvency position.
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2,50,000
6,000
2,44,000

3,00,000
3,00,000

90,000
90,000

57,000
57,000

4,00,000
6,45,000
10,45,000

3,50,000
3,50,000

59,000
3,000
56,000

40,000
40,000
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1,20,000
1,20,000

20,000
20,000

1,80,000
1,80,000

70,000
. 5,000
65,000

65,000
65,000

(1x15=15)
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Reg. No.

i ~ V Semester B.Com.2 Degree Examination, November/December 2018
FUNDAMENTALS OF MANAGEMENT ACCOUNTING

- (Repeaters)
~  Time : 3 Hours o ' oo : SRTEE Max. Marks : 80

! Instructions : 1) Attempt all Sections according to internal choices.
| 2) Non-programmable calculators may be allowed.
SECTION - A
1. Answer any ten of the following (10x2=20)

a) Define Management Accounting. '

b) Write any two difference between Financial Accounting and Management Accounting.

¢) What is Interpretation ? |

d) What is trend analysis ?

e) What is ratio ?

f) Give the meaning of debt equity ratio.

g) What is funds flow statement ?

h) State the two objectives of funds flow statement.

i) Whatis cash flow statement ?

j) What is investing activity ?

k) What are the common size financial statements ?

1) Give any two advantages of Management Accounting.

SECTION -B
Answer any three of the following : (3x5=15)
2. Briefly explain the functions of Management Accounting.
3. Compute the trend percentage from the following data taking 2013 as a base year.

Year Sales (%) Stock )
2013 1,20,000 12,000
2014 1,56,000 15,000
2015 1,92,000 18,0600
2016 1,86,000 16,800

2017 1,92,000 16,200 P.T.O.
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4. Calcuiate :
1) Current ratio
2) Liquid ratio from the information given below :

4
Debtors ' 56,000
Stock 56,000
Advances 35,000
Cash 28,000
Prepaid expenses 14,000
Outstanding income 7,000
Creditors 56,000
Provision for taxation 42,000

5. From the following Balance Sheets of Rajeshwari Apte Ltd. Prepare a schedule of changes in
working capital,
Balance Sheets as on 31* March, 2016 and 2017

Liabilities 2016 2017 Assets 2016 2017

Capital 30,000 38,000 Cash 4,500 7,000
Pand L A/c 1,500 3,400 Debtors 18,000 17,500

Creditors 10,500 6,600 Stock 12,000 ’ 13,500

Land 7,500 10,000

42,000 48,600 42,000 48,000

6. Following are the transactions relating to PARAS Ltd. -
a) Dividend paid
b) Dividend received on shares
¢) Equipment sold
d) Purchased land
e) Wages paid to workers
f) Issued long term bonds
g} Purchased investments
h) Interest paid
1) Received cash from customers
j) Issued bonus shares .
Classify the above transactions in to :
I} Operating
II) Investing
III) Financing
IV} Others.




Answer any two of the following :

-3-

SECTION - C

7. Explain the tools and techniques of management accounting,.
8. Following are the Balance Sheets of Amit Apte Ltd. as on 31* March, 2016 and 2017.

Liabilities

Share Capital
General Reserves
P & L Account

8% Debentures
Proposed Dividend
Provision for tax
Bills Payable
Creditors

2016
Q)

12,00,000

1,60,000
1,20,000
6,00,000
1,68,000
1,60,000

80,000
2,20,000

27,08,000

2017
®)

16,00,000
2.80,000
1,92,000
4,00,000
2.00,000
2,00,000
64,000
3,32,000
32,68,000

Assets 2016
®)
Cashatbank  1,00,000
Debtors 6,40,000
Bills Receivables 80,000
Stock 3,08,000
Machinery 3,20,000
Building 8,00,000
Goodwil! 4,60,000
27,08,000

Prepare comparative Balance Sheet and comment on financial position.
9 The Balance Sheet of SOH Ltd. as on 31% March, 2016 and 2017 are as follows :

Liabilities

Equity share capital
P& LA/

General Reserve
Creditors

Bills Payable

/S expenses

2016
R®)
5,00,000
1,00,000

50,000
1,53,000
40,000
7,000
8,50,000

2017
{4’
7.00,000

1,60,000
70,000
1.90,000
50,000
5,000
11,75,000

Assets 2016
(Y
Land and Building 80,000
Plant and Machinery 5,00,000
Stock 1,00,000
Debtors 1,50,000
Cash 20,000
8,506,000
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(2x15=30)

2017
Q)
72,000

8,00,000
1,20,000
436,000
8,00,000
6,80,000
3,60,000

32,68,000

2017
®
1,20,000
8,00,000
75,000
1,60,000
20,000

11,75,000

Prepare funds flow statement from the Balance Sheets and also by using the following

information :

a) ¥ 50,000 depreciation has been charged on Plant and Machinery during 2017.

b) A part of machinery was sold for T 8,000 during the year 2017. It had a cost of X 12,000
and depreciation of ¥ 7,000 had been provided on it.

c) ¥20,000 was transferred to General Reserve as part of profit.

d) During the year dividend paid to shareholders was ¥ 40,000.
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10. Following are the Balance Sheets of Zuhair Ltd. as on 31-3-2016 and 31-3-2017.

23521/E 210 -4-
Liabilities 2016 2017
) Y
Share Capital 3,00,000 3,20,000
Pand L A/c 40,000 50,000
12% Debenture’ 50,000 30,000
Creditors 40,000 50,000
RDD. 4,000 5,000
4,34,000 4,55,000

Additional information :

a) Dividend paid during 2017 was % 20,000.
b) Land purchased was % 40,000.

¢} Goodwill written off ¥ 20,000,

d) Debentures of T 20,000 were redeemed during the year 2017.

Prepare Cash Flow Statement as per AS-3.

SECTION-D

Case Study (Compulsory Question) :

11. Balance Sheet of Omkar Ltd. as on 31* March, 2017 is given below :

Liabilities 4
Equity Share Capital 5,00,000
Preference Share Capital 2,00,000
Reserves 10,00,000
Secured loan 4.,00,000
Current liabilities 5,40,000
Provision for taxation 8,10,000
34,50,000

Other information :

Assets 2016 2017
: ) ®
Goodwill 40,000 20,000
Land and Buiiding 80,000 1,20,000
Inventories 2,00,000 1,80,000
Debtors 60,000 70,000
Cash at Bank 54,000 65,000
4,34,000 4,55,000
(I1x15=15)
Assets 4
Fixed Assets 12,00,000
Stock 5,40,000
Debtors 8,00,000
Advance Income Tax 1,20,000
Bank Balance 7,90,000
34,50,000

1) Total sales during the year amounted to ¥ 77,76,000 (including each sales T 5,76,000).

2) The Gross profit eamed is 25% on sales.

3) The closing stock on 31-3-2016 was ¥ 4,32,000.

4) Assume 360 working days for the year.
Questions :
1) Calculate ;

a) Liquid Ratio

b) Proprietary Ratio

¢) Stock Turnover Ratio

d) Capital Gearing Ratio

e) Debtors velocity.

2) Comment on the liquidity position:
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(2x15=30)
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32,68,000
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75,000
1,60,000
20,000

11,75,000
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Reg. No.

V Semester B.Com.3 Examination, November/December 2018
GOODS AND SERVICES TAX -1

(Paper - 1) (Regular)

Instructions : 1) Answer all the Sections according internal choice.

2) Question under Section ‘D’is compulsory.
SECTION - A

1. Answer any ten of the following.
a) Why is the goods and service tax introduced ?
b) Expand the following terms :

i) NEFT

ii) RTGS.
Give two examples of actionable claims.
What is address of record ?
What is Reverse Charge ?
What do you mean by exempt supplies ?
What is the threshold limit of exemption ?
Define casual dealers.
Mention the approaches for treatment.
Define Services.
State any two objectives of GST.
Give the meaning of registration.

SECTION - B

Answer any three of the following.
What is GST ? State its features.
Write short notes on :

2.
3

o @

a) Actionable claim

b) Concept of business.
4. What are the important exemptions determined by GST council on 19-5-2017 ?
Explain the types of registration.

. Explain the principles of GST for imposing tax.

Max. Marks : 80

(10x2=20)

(3x5=15)

PT.O.
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SECTION -C
Answer any two of the following. (2x15=30)
7. Explain the benefits of GST to the traders, consumers and government.
8. What is capital asset ? Explain in detail about stock-in-trade, personal effects and jewellery.
9. Write short notes on any three :. |
a) Financial services
b) Unregistered business
¢) Government departments and other public sectors
d) Cancellation of registration.
10. Explain the procedure for registration.
SECTION -D
Case study (compulsory question). (1x15-=15)
11. a) On 1-6-2018 Mr. Shrinivas who is doing trading business, purchased a car for business,
on which he was taken ITC (Input Tax Credit). On 16-10-2018 he gifted this car to his
friend Mr. Vasu. State whether this gift is treated as supply or not.
b) Mr. Suresh who is mobile dealer, gifted a mobile to his wife. State whether it is taxable
supply or not, if the mobile is
1) ¥ 55,000
i) T 35,000.
¢) Head office transferred goods of T 12,00,000 to the branch office without consideration,
Is it treated as taxable supplies ?
N3 e
. Pathrt Y
1. wec=gg wgon. o (10x2=20)
a) da =0a) Be 8 oF YarHNS 7
b) s ¥nSIrivs; agoro:
1) 239058
i) oov.aiearr.
¢} ZREreguEmma SOm BB, TIRIR), LURTOD.
d) CmZen e Ovr st 9
e) 3DADT 38 wortes ?
f) ooty pdE wosdes ?
g) RO® ) Beso DR VTOSOD WL 203 oS> ?
h) momues STODC mﬁ% 2n&0.
i) ﬁdm%m&; SROROLOINS Wi 3920
j) ResSne D8 Deao.
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V Semester B.Com.2 Degree Examination, Nov./Dec. 2018
INDIRECT TAXES (Repeaters)

Time : 3 Hours _ Max. Marks : 80

Instructions : 1) Answer all the Sections with observance of internal choice offered.
2) Neatness with clarity and working notes carry due weightage.
SECTION - A

Answer any ten of the following : {10%2=20)

1.

a) Define indirect taxes.
b) State any two objectives of indirect taxes.
¢) Define declared goods.
d) Define VAT,
e) State any four objectives of VAT.
f) What is customs duty ?
g) What is Cenvat credit ?
h) Expand :
1) CBSE 2) NCCD
i) What do you mean by interstate sales 7
j) What is MRP method ?
k) State four examples of services.
1) What are excisable goods 7
SECTION ~-B

Answer any three of the following : A (5%3=15)

LA e

Distinguish between direct and indirect taxes.

Who is a Central Excise Officer and state the powers of Central Excise Officer.

Define services. State the need for taxation of services in India.

Compute the assessable value in respect-of a machinery imported from UX. FOB value
$ 5000. Freight paid $ 500. Insurance not traceable. Installation charges at the importer’s
factory T 12,000/- ‘

Exchange rates, by RBIZ 70 by GOI : X 69 and by CBCE is ¥ 71 per dollar.

. Compute invoice value to be charged and amount of tax payable under VAT by a dealer,

who had purchased goods for ¥ 2,00,000 after adding tax expenses of X 25,000 and profit of
Z 70,000 has sold out the same. A ‘
The rate of VAT on purchase and sales is 12.5%. ‘ : PTO.
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: SECTION-C

Answer any two of the following : (15%2=30)

7. What is Central Excise ? Briefly listout inclusions and exclusions cost while determining the
assessable value. '

8. Define the term services. Discuss the main features of service tax.

9. Bhavani and company imported a goods from USA on Tariff value of ¥ 25,00,000/- Basic
custom duty @ 25% but tariff @ 20%, CVD at 12% special CVD at 4% but tasiff at 2%
Calculate custom duty payable.

10. Mr. Dilip, a first stage dealer in packing machinery in the state of Karnataka furnishes the
following data :
Total interstate sales during F. Y. 2017-18
CST not shown separately ¥ 52,50,000
Above sales includes :
* Excise duty ¥ 1,25,000
* Freight ¥ 2,50,000
(of this T 50,000 is not shown separately in invoice)
* Insurance charges incurred prior to delivery of goods X 42,000
* Installation and commissioning charges shown separately X 65,000
* Incentive on sales received from manufacture X 40,000
*(Goods returnable within 6 months ¥ 20,000
* Design chargesX 30,000
Determine the turnover and CST payable, assummg that all transactions were covered by valid
‘C’ forms.

ST SECTION -

(Compulsory)

11. Case Study analysis : (15x1=15)
Jain Ltd. authorised registered dealer in Khanapur for equipments. They furnished you the
following details to compute VAT liability. (Rate of tax on output is 12.5%.) ’

Cost of materials Z 6,00,000 (inclusive of VAT @ 12.5%) wages X 1,50,000 and overheads
2 2,00,000/-.
Calculate VAT by using :
1) Addition method assume profit is X. 1,50,000.
'2) Subtraction method (assume sales price mcludmg VAT @ 12. 5% is . 1,20,000.
3) Invoice method (assume profit is ¥ 1,50,000) and you are also asked to suggest which
method is beneficial and why ? ’
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Reg. No.

V Semester B.Com. 2 Degree Examination, Nov./Dec. 2018
Paper —1: INCOME TAX -1
(Repeaters)

Time : 3 Hours Max. Marks : 80

Instructions : 1) Answer all the questioﬁs with strict observation of inner choice
in each Section.
2) Question No. 11 under Section — D is compulsory.
3) Use of calculator is allowed.

SECTION - A

1. Answer any ten of the following : (10x2=20)
a) What is gross total income ?
b) Who is not-ordinarily resident ?
¢) Who is a specified assessee 7
d) What is adjusted gross total income ?
¢) State the provisions of section 80 U.
f) What is agricultural income ? Give two examples.
g) What do you mean by perquisite ? Give two examples.
h) What are the provisions of entertainment allowanbe ?
i) How do you determine the annual value of self-occupied property ?
i) State any four items of savings or investments which qualify for deduction u/s 80C.
k) How do you treat the municipal taxes ? A
1) Give the rules of calculating exempted house rent allowance.

P.T.O.
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SECTION - B
Answer any three of the following : (3x5=15)

2. Mr. Anand who left India for the first time to Japan on 1-6-2014 to live with his eldest son.
He came back to India on1-7-2016 and left to England on 1-7-2017 to live with his daughter.
He returned to India on 1-4-2018.
Determine his residential for the A.Y. 2018-19.

3. Mr. Sundar received Rs. 3,00,000 as gratuity on his retirement on 30-9-2017. He was working
in a private firm. At the time of retirement he was getting per month Rs. 10,600 as basic salary
and Rs. 5,000 as dearness allowance (75% of it forms part of salary for service benefits).
He has served for 25 years and 8 months. He is ndt covered by Payment of Gratuity Act,
1972.

Compute the exempted and taxable gratuity for the Assessment Year 2018-19.

4. Mr. Venkatesh paid the following donations during the previous year ended 31-3-2018.

Rs.
a) The Indira Gandhi Memorial Trust 10,000
b) The Rajiv Gandhi Foundation 10,000
¢} Zilla Saksharata Samiti (duly constituted) 5,000
d) Municipality approved for family planning - 10,000
e} Corporation of notified minority community 25,000

Shri Venkatesh’s gross total income for the previous year was Rs. 2,00,000 which includes
Rs. 20,000 being a share of income from an association of persons which has paid tax on its
total income.
Determine the deduction allowable to him U/s 80 G.

5. From the following information compute the deduction allowable under Section 80C of the
Income Tax Act.

Rs.

a) Contribution to public provident | A 20,000

b) Subscription to National Savings Certificates (viii issue) 10,000
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¢) Life insurance premium on his own life (sum assured Rs. 80,000) 20,000
d) Contribution to unrecognised provident fund 12,000
e) Contribution to statlitory provident fund 8,000
f) Accrued interest on NSC (viii issue) 10,000
g) Life insurance premium (on mother’s life) 10,000
h) Investment in infrastructure bonds 20,000

6. M. Ravi retired from service in a private company. His pension is Rs. 1,200 p.m. During the
year 2017-18 he got his 2/ 3 pension commuted and received Rs. 60,000.
Compute the exempted and the taxable amount of commuted pension for the Assessment Year
2018-2019 if;
a) He received gratuity and b) he did not receive gratuity.

SECTION - C
Answer any two of the following : » ’ (2x15=30)
7. Compute the gross total income for 2018-19 A.Y. of Mr. Prakash from the following particulars,
ifhe is
a) Resident
b) Not ordinarily resident
¢) Non-resident.
1) Profit from business in Dharwad Rs. 60,000.
ii) Rent from house property in Pakisthan but received i_n India Rs. 1,00,000.

iii) Income from agriculture in U.S.A. Rs. 20,000 received there and spent Rs. 5,000
for children’s education studying in USA.

iv) Profit from business established in Japan but, controlled from India Rs. 60,000 of
which Rs. 40,000 remitted to India.

v) Past untaxed foreign income remitted to India in the Previous Year Rs. 80,000.
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vi) Salary received in India for the services rendered in England Rs. 60,000.
vii) Interest on investment in England Rs. 40,000 earned and received there.
viii) Interest on post Office Savings Bank A/c Rs. 2,000.
ix) Profit ffom business in Australia (but not controlled from India) Rs 40,000.
X) Agriculture income earned in Germany Rs. 50,000, -
xi) Income on U.T.I. Rs. 30,000.
Xit) Rent from house property let out in France for Rs. 80,000 half of which credited to
his account in Hubli,
8. Mrs. Radha Furnishes the following details of her salary for the financial year 2017-18 :
a) Basic salary per month Rs. 7,000
b) Dearness allowance per month Rs. 2,500
¢) Entertainment allowance per month Rs. 1,000
| d) City compensatory allowance p.m. Rs, 500
¢) Medical allowance for the year Rs. 3,000
f} Employer’s and her contribution to unrecognised provident fund p.m. Rs. 1,000.
g) Interest on the accumulated balance of the above fund @ 13% p.a. Rs. 5,200.
h) She has been provided by the employer a car of 2,000 CC along with a driver for both

official and private purposes, the expenses on running and maintenance for private use

are fully met by the assessce.

i) She is also provided with an unfurnished house for which her employer charges Rs. 500
per month. The house is situated in a city having population of more than 25 lakhs. The

above house is owned by the employer.

j) The employer also provided with a sweeper at Rs. 200 p.m. and a watchman at Rs. 300
p.m.

k) The profession tax paid by employee during the year was Rs. 3,750.

Compute her income from salary for the Assessment Year 2018-19.
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9. From the following particulars of house properties of Mr. Patil, compute his income from
house property for the A.Y. 2018-19;

Particulars House ~ I House — 11
Let out Let out
Municipal value 40,000 20,000
Fair rent 30,000 22,000
Actual rent received 42,000 24,000
Standard rent 36,000 25,000
Municipal taxes paid |
(10% of muncipal value) 4,000 2,000
Repairs 2,000 3,000
Fire insurance premium 500 600
Interest on loan for construction - 500 500

Municipal taxes in respect of house I1 has been paid by the tenant.

10. Mr. Abhishek has paid the folldwing donations during the previous year ended 31-3-2018.

Rs.
a) The National Children’s Fund 2,00,000
b) The P.M.’s National Relief Fund 1,00,000
c) A medical college 4,00,000
d) An approved charitable institution 2,00,000
¢) Repairs and renovation of notified temple 50,000
f) Aid to poor students 20,000
g) Books donated to an approved college 30,000

h) Municipality approved for family planning 1,060,000
i) C.M.’s Relief Fund ' 1,00,0600
Abhishek’s gross tota! income amounted to Rs. 62,00,000 which includes the long-term capital
gain of Rs. 2,00,000. ‘
Calculate the deduction allowable to him U/s 80 G for the A.Y. 2018-19.
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SECTION —-D

Compulsory (case study) : (1x15=15)

1. The following particulars relate to Mr. Prakash for the Previous Year 2017-18 :
i} Basic salary Rs. 40,000 p.m.
i) D.A. entering into retirement benefits Rs. 20,000 p.m.
iii) HRA. Rs. 10,000 p.m.
iv) C.C.A. Rs. 400 p.m.
v) Medical allowance Rs. 600 p-m.
vi) Entertainment allowance Rs. 800 p.m,
He retired on 30" June 2017 after sensing for 25 years and 7 months. He received full pension

of Rs. 20,000 up to 31% December 2017 and thereafter he commuted 50% of his pension and
received Rs. 3,00,000. He also received a gratuity of Rs. 8,00,000 in December 201 7.

Assume that he is a non-govt. employee covered under payment of Gratuity Act - 1972 and
he is living in his own house.

Compute the taxable salary of Mr. Prakash for the AY.2018-19.

Sl
Maesnieh: 1) eozoseal ST e MyRAneA evFouo.
2) pen-am Z 11 & s atsmon engoso.
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Reg. No.

V Semester B.Com.3 Degree Examination, November/December 2018
INCOME TAX -1 (Compulsory)

(Regular)
Time : 3 Hours Max. Marks : 80
Instructions : 1) Answer all the questions with strict observations of innner choice in each

Section.

2) Use of calculator is allowed.

1) ©0307 gad) eFpn awp Dy evION0.

2) myey,Jesic” eaalecnt oRbab3a0E

SECTION - A '
1. Answer any ten of the following : (10x2=20)
a) How do you treat municipal tax ?
1) When it is paid by the landlord ?
i1) When it is paid by the tenant ?

b) What are perquisites ?
c) Define agriculture income.
d) What is profession ?
¢) What are the deductions allowable U/S 16 ?
f) When income tax was first time introduced in India ?
g) What are the provisions U/S 13 (A) ?
h) What is standard rent ?
i) State the provisions U/S 24 of the IT Act 1961.
j) Define the term business. '
k} Define the term person.
1) State the basic condition to be fulfilled by an ordinarily resident assessee.

SECTION - B

Answer any three of the following : A (3x5=15)
2. Compute exempted and taxable HRA of the following assessee for the previous year ending

31-3-2018 :

Particulars ‘B’ of Belagavi ‘D’ of Delhi

T 3

Salary for the year 3,00,000 5,00,000

HRA received during the year 27,000 75,000

Actual rent paid 30,000 . 96,000

P.T.O.
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3. Miss Bharati is the owner of .a house property. From the following particulars compute its
gross annual value :
3
Fair rental value 45,000
Municipal value 40,000

Standard rent 42,000
Actual rent 36,000
Unrealised rent 3,000

4, Mr. Vijaya Kumar, who was bom and brought up in India, went to USA for higher education
on 10-3-2016 and came back to India on 1-1-2018 early in the morning.
Find out his residential status for the assessment year 2018 — 19.

5. Shri Akash retired on 31-3-2018 after serving in a company for 32 years. He received X 78 000
as gratuity. His average monthly salary in the immediately preceding 10 months was ¥2,800.
Compute his exempted and taxable gratuity for the assessment year 2018 — 2019.

6. Mr. Mahantesh is an employee of Karnataka Traders Bijapur. He furnishes the following
information of his salary for the previous year ending 31-3-2018 :

a) Salary ¥ 15,000 p.m.

b) Bonus equal to 2 month’s %alary

¢) Tour allowance ¥ 1,000 p.m. (for office duties).

d) Commission equal to 4 month’s salary.

e) Entertainment allowance ¥ 1,000 p.m.

f) Education allowance of his two children ¥ 100 p.m. each child.

Compute his Gross Salary Income for the assessment year 2018 — 19.
SECTION -C

Answer any two of the following : ' - (2x15=30)

7. From the following Receipts and Payments Account of Dr. Ravi and additional information
compute his Gross Total Income for the A.Y. 2018 — 2019. |

Receipts ¥ Payments B 4
Cash on hand 2,000 Dispensary exps. 22,000
Consultation fees - 1,30,000 Periodicals (Medical) 800
Visiting fees 20,000 Life Insurance premium © 12,000
X-ray fees 50,000 Staff salaries 60,000
Share of income from HUF 8,000 Domestic expenses 55,200
Loan from bank for Donations A 20,000
purchase of surgical Deposits in bank 60,000
equipments 65,000 Car expenses 6,000
Rent from house property 24,000 Cost of Surgical

Equipments 60,000

Cash on hand 3,000

2,99,000 2,99.000




FIIIIIIHIHIIIHHIIIHHHIHIIIIIHNIW . 3 36522/ 220

Additional information :
1) Depreciation allowable as per rules T 5,000.
2) Donations are paid to political party.
8. From the following P & L A/c of a merchant for the year ending 31-3-2018 and the given
additional information compute his income from business for the assessment year 2018 — 2019 :

4 £4

To Salaries 26,000 By Gross profit 75,000
To Interest on capital 3,000 By profit on sale of car 20,000
To General expenses 7,000 By Recovery of bad debts 5,000
To Bad debts : 1,000 By Interest on Govt. securities 3,500
To Advertisement 3,700 By Dividends ' 4,000
To Insurance Premium (Fire) 1,000 By Gifts on birthday =~ 8,700
To Depreciation 5,500
To Reserve for bad debts 2,000
To Income tax 7,000
To Donations 2,000
To Car expenses 2,500
To Net profit 55,500

1,16,200 A 1,16,200

Additional Information :

1) Salaries include ¥ 12,000 being salary to proprietor.

2) General expenses include T 2,500 compensation paid to an accountant who had to be
removed from service in the interest of the business.

3) Depreciation allowable as per IT Rules T 4,000.

4) Of the recovery of bad debts the assessing officer had disatlowed ¥ 3,000 in the earlier
years,

5) Car expenses include ¥ 1,000 spent for personal work, A

9. Shri Channabasappa of Nippani is the owner of two houses. The followmg are the particulars
relating to the houses :

Particulars I House II House
a) Municipal value 12,000 10,000
b) Rent per month 1,200 - 1,000

¢) Municipal taxes paid at 10%
of municipal value of both houses

d) Repairs - 2,500 2,000
e) Land revenue 200 250
f) Collection charges 800 500
g) Interest on loan for A

rennovation of houses - 1,200 1,000

Compute his income from house property for the assessment year 2018 — 2019.
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10. The following are the particulars of salary of Mr. Girish, a sales manager of Mumbai for the
previous year 2017 — 2018.

1) Basic salary for the year X 72,000.

2) Dearness allowance for the year ¥ 48,000 (not eligible for retirement benefit)

3) His own contribution to recognised provident fund ¥ 7,200.

4) Company’s contribution to the said fund ¥ 9,840.

5) Bonus at 20% of basic salary T 14,400.

6) He was also provided with 5 rent-free house for which the employer paid a rent of ¥ 5,000
per month. He was allowed to use furniture costing ¥ 76,200.

7) He was provided with a small car for which the company pays all the running and
maintenance expenses including drivers salary. The car is being used for both the office
and private purposes.

8) Life insurance premium of ¥ 9,760 on his life policy was paid by the employer.

9) The company paid for his two children education allowance of ¥ 350 per month per
child.

10) Cost of private tour paid by the employer ¥ 10,000.
Compute his income from salary for the assessment year 2018 - 2019.
SECTION -D

Compulsory {case study) : (1x15=15)

11. Smt. Ashwini is an employee who gives you the following information of her salary for the
previous year 2017 — 2018 : ‘
a) Basic salary ¥ 40,000 per month. »
b) Dearness allowance ¥ 2,000 per month and 50% of it enters into retirement benefits.
¢) City compensatory allowance ¥ 500 per month.
d) House rent allowance ¥ 5,000 per month;
e) Commission (1% on turnover achieved by her) ¥ 8,000.
Compute her taxable house rent allowance from the information given above for each of the
situation given below : |
Situations :
i) Living in her own house.
ii) Living in a rented house at Belagavi by paying ¥ 5,000 per month rent.
iii) Living in a rented house in Chennai by péying ¥ 10,000 per month rent.




